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QUESTION 1

Scenario: A Citrix Administrator deployed a Citrix ADC in one-arm mode. Currently, the VLANs 20, 30, and 40 are
tagged on the interface with the option of `tagall\\'. 

What is true regarding the VLANs, when `tagall\\' is enabled on the interface? 

A. VLANS 1, 20, 30, 40, and HA packets are tagged on the interface. 

B. VLANS 20, 30, and 40 are tagged on the interface. 

C. VLANS 1, 20, 30, and 40 are tagged on the interface. 

D. VLANS 20, 30, 40, and HA packets are tagged on the interface. 

Correct Answer: C 

 

QUESTION 2

Scenario: A Citrix Administrator made changes to a Citrix ADC, deleting parts of the configuration and saving some new
ones. The changes caused an outage that needs to be resolved as quickly as possible. There is no Citrix ADC backup. 

What does the administrator need to do to recover the configuration quickly? 

A. Restore from the revision history. 

B. Run high availability (HA) file synchronization. 

C. Restart the Citrix ADC. 

D. Run saved versus running configuration. 

Correct Answer: A 

 

QUESTION 3

Scenario: A Citrix Administrator configured the policies below: 

POLICY 1: add rewrite action ACT_1 corrupt_http_header Accept-Encoding add rewrite policy POL_1
HTTP.REQ.IS_VALID ACT_1 

POLICY 2: 

add rewrite action ACT_2 insert_http_header Accept-Encoding "\"identity\"" 

add rewrite policy POL_2 "HTTP.REQ.IS_VALID" ACT_2 

Which set of commands can the administrator use to bind the rewrite policies to the LB vserver lb_vsrv so 

that POL_2 is evaluated after POL_1 is evaluated successfully? 
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A. bind lb vserver lb_vsrv -policyName POL_1 -priority 110 -gotoPriorityExpression NEXT -type REQUEST bind lb
vserver lb_vsrv -policyName POL_2 -priority 100 -gotoPriorityExpression END -type REQUEST 

B. bind lb vserver lb_vsrv -policyName POL_1 -priority 90 -type REQUEST bind lb vserver lb_vsrv -policyName POL_2
-priority 100 -type REQUEST 

C. bind lb vserver lb_vsrv -policyName POL_1 -priority 90 -gotoPriorityExpression END -type REQUEST bind lb vserver
lb_vsrv -policyName POL_2 -priority 80 -gotoPriorityExpression NEXT -type REQUEST 

D. bind lb vserver lb_vsrv -policyName POL_1 -priority 90 -gotoPriorityExpression NEXT -type REQUEST bind lb
vserver lb_vsrv -policyName POL_2 -priority 100 -gotoPriorityExpression END -type REQUEST 

Correct Answer: A 

 

QUESTION 4

Scenario: A Citrix Administrator needs to create local, limited-privilege user accounts for other administrators. The other
administrators will require only: 

The ability to enable and disable services and servers Read-only access 

Which built-in command policy permission level can the administrator use? 

A. Read-only 

B. Operator 

C. Sysadmin 

D. Network 

Correct Answer: B 

 

 

QUESTION 5

Users accessing a published application through a Citrix Gateway virtual server require SSO to a StoreFront server
using an external, secure, single URL. 

Which type of virtual server can the administrator use to meet this requirement? 

A. Priority Load Balancing 

B. Load Balancing 

C. Unified Gateway 

D. VPN 

Correct Answer: B 

Reference: https://docs.citrix.com/en-us/citrix-gateway/current-release/about-citrix-gateway.html 
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QUESTION 6

Scenario: A Citrix Administrator needs to test a SAML authentication deployment to be used by internal users while
accessing several externally hosted applications. During testing, the administrator notices that after successfully
accessing any partner application, subsequent applications seem to launch without any explicit authentication request. 

Which statement is true regarding the behavior described above? 

A. It is expected if the Citrix ADC appliance is the common SAML identity provider (IdP) for all partners. 

B. It is expected due to SAML authentication successfully logging on to all internal applications. 

C. It is expected if all partner organizations use a common SAML service provider (SP). 

D. It indicates the SAML authentication has failed and the next available protocol was used. 

Correct Answer: B 

 

QUESTION 7

A Citrix Network Engineer informs a Citrix Administrator that a data interface used by Citrix ADC SDX is being
saturated. 

Which action could the administrator take to address this bandwidth concern? 

A. Add a second interface to each Citrix ADC VPX instance. 

B. Configure LACP on the SDX for management interface. 

C. Configure LACP on the SDX for the data interface. 

D. Configure a failover interface set on each Citrix ADC VPX instance. 

Correct Answer: C 

Reference: https://training.citrix.com/public/Exam+Prep+Guides/241/1Y0241_Exam_Preparation_Guide_v01.pdf (22) 

 

QUESTION 8

Scenario: A Junior Citrix Administrator needs to create a content switching virtual server on a Citrix ADC high availability
(HA) pair. The NSIP addresses are 192 168.20.10 and 192.168.20.11. The junior administrator connects to NSIP
address 192.168.20.10 and saves the changes. 

The following day, a Senior Citrix Administrator tests the new content switching virtual server, but it is NOT working. The
senior administrator connects to the HA pair and discovers that everything the junior administrator configured is NOT
visible. 

Why has the Citrix ADC lost the newly added configurations? 

A. The junior administrator made the changes and did NOT force a failover to save the configurations. 
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B. The junior administrator connected to the NSIP of the secondary Citrix ADC in the HA pair. 

C. The Citrix ADC appliances have different firmware versions. 

D. Both Citrix ADCs in the HA pair restarted overnight. 

Correct Answer: D 

 

QUESTION 9

Scenario: A Citrix Administrator manages an environment that has three SSL websites, all serving the same content. 

www.company.com www.company.net www.company.org 

The administrator would like to consolidate the websites into a single, load-balanced SSL virtual server. 

What can the administrator bind to use a single SSL virtual server? 

A. The certificate of each website to a single SSL virtual server 

B. A wildcard certificate to a single SSL virtual server 

C. A multiple SAN certificate to a single SSL virtual server 

D. A wildcard certificate to a content-switching virtual server 

Correct Answer: C 

 

QUESTION 10

What can a Citrix Administrator configure to access RDP shortcuts? 

A. Split tunneling 

B. Bookmarks 

C. Next hop server 

D. Intranet applications 

Correct Answer: B 

Reference: https://docs.citrix.com/en-us/citrix-gateway/current-release/rdp-proxy.html 

 

QUESTION 11

Which type of policy would a Citrix Administrator use to disable USB redirection? 

A. Session 

B. SmartControl 
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C. Auditing 

D. Authorization 

Correct Answer: A 

 

QUESTION 12

SAML is an authentication protocol based on _____________. 

A. LDAP 

B. XML 

C. HTML 

D. YAML 

Correct Answer: B 

 

QUESTION 13

What is a recommended practice for managing a Citrix ADC high availability (HA) pair to ensure that management
changes are always made on the primary Citrix ADC? 

A. Enable USIP on both nodes (primary and secondary). 

B. Connect to both Citrix ADCs to see which one is the primary. 

C. Enable management access to a SNIP. 

D. Enable management access on the Cluster IP (CLIP) address. 

Correct Answer: C 

 

QUESTION 14

Which Citrix ADC service monitor can a Citrix Administrator use to test the three-way handshake between the Citrix
ADC and the backend server? 

A. PING 

B. UDP 

C. LDAP 

D. TCP 

Correct Answer: D 

Reference: https://docs.citrix.com/en-us/citrix-adc/current-release/load-balancing/load-balancing-builtinmonitors/monitor-
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tcp.html 

 

QUESTION 15

Which scenario will cause automatic high availability (HA) synchronization to fail? 

A. Different build versions 

B. A configuration change to the primary Citrix ADC 

C. A forced failover 

D. Manually forced synchronization 

Correct Answer: D 

Reference: https://support.citrix.com/article/CTX124439 
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